
ANSWERS– VOLUME 2: EQUILIBRIUM 
Chapter 3, Cross-Sectional Properties  problem 3.2-1 to 3, page 135 
 

Last update: 15-10-07 

Remarks: See §3.1.1 till §3.1.3, pages 74 till 82 
 
Answers 3.2-1:  
 
a.   0yS =

b.  3 324 10  mmzS = ×

 
Answers 3.2-2:  
 
a.   3 39 10  mmyS = − ×

b.  3 34,5 10  mmzS = − ×

 
Answers 3.2-3:  
 
a.   3 337,7 10  mmyS = ×

b.  3 312,6 10  mmzS = − ×

 
  
 
 
 
 

 
 
 
Explanation: 
 

(1) 3800 mmA = ;  C 0y = ;  C 30 mmz =  

(2) 3450 mmA = ;  C 20 mmy = − ;  C 10 mmz = −  

(3) 3400π mmA = ; C 30 mmy = ;  C 10 mmz = −  
 
 


